(=7)SH6E3IA3HE (A)/\—IF—LRER

2 AVRBER—F A b

9:00 A3(X10:00

A/S—pk 1 2 3 B B | IE f
1 (LRI L 2-1 2-1 2-0 1
2 |BFFTC 1-2 0-3 0-2 3
3 [JL—E2rEEKR 1-2 3-0 1-1 2
HEIEF DO-—2) QO@O0HKE—3) EYHSE)
12 AVIRE R —F A R 9:00
B/\—k 1 2 3 4 B B | IE f
~ = ; — —| - 1
1 (FUrH350 3-0 3-0 2-0 (6/6)
2 |RRH—X 0-3 1-2 0-2 4
3 |REARTIRFT 0-3 1-2 0-2 3
- . ~ ~ ~ 2
4 |77IYTI\R 2-1 2-1 2-0 (@/6)
HEIEF D(1—2)Q(B8—4)B(1—3)D(2—4)
(=7) REsb—F Ak
Al LykI L
SF  ILyKI L
2-1
B2 7T I\
F FYrH57 B x)oH50
2-1
BB LYRTIL
B1 F)o9357 3 ZFIYT I
SF  xyr4357 3L JL—E U MEEKR
2-1
A2 JL—EUREER




